

Name:

Rationale Zahlen addieren und subtrahieren



  $\rightarrow$ 	$(+5) + (+3) = 5 + 3 = 8$
  $\rightarrow$ 	$(+5) - (-3) = 5 + 3 = 8$
  $\rightarrow$ 	$(+5) + (-3) = 5 - 3 = 2$
  $\rightarrow$ 	$(+5) - (+3) = 5 - 3 = 2$

① Berechne!

a) $(-1) - (9) =$

b) $(-5) - (18) =$

c) $(-21) - (21) =$

d) $(-23) - (8) =$

e) $(-4) - (24) =$

f) $(-1) - (8) =$

g) $(-12) - (18) =$

h) $(-24) + (6) =$

i) $(-28) - (23) =$

j) $(-25) - (20) =$

k) $(-22) - (16) =$

l) $(-20) - (11) =$

m) $(-26) - (15) =$

n) $(-10) - (27) =$

o) $(-16) - (19) =$

p) $(-29) - (18) =$

q) $(-1) - (17) =$

r) $(-5) - (15) =$

s) $(-30) + (22) =$

t) $(-1) - (0) =$

Name: _____

Rationale Zahlen addieren und subtrahieren



  $\rightarrow$ 	$(+5) + (+3) = 5 + 3 = 8$
  $\rightarrow$ 	$(+5) - (-3) = 5 + 3 = 8$
  $\rightarrow$ 	$(+5) + (-3) = 5 - 3 = 2$
  $\rightarrow$ 	$(+5) - (+3) = 5 - 3 = 2$

① Berechne!

a) $(-8) + (4) =$

b) $(-1) - (5) =$

c) $(-4) + (0) =$

d) $(-7) - (6) =$

e) $(-6) - (0) =$

f) $(-7) - (4) =$

g) $(-6) - (5) =$

h) $(-10) - (1) =$

i) $(-3) - (4) =$

j) $(-4) - (1) =$

k) $(-5) - (0) =$

l) $(-3) - (8) =$

m) $(0) - (1) =$

n) $(-10) + (5) =$

o) $(-1) - (3) =$

p) $(-2) - (1) =$

q) $(-3) - (2) =$

r) $(-1) - (1) =$

s) $(-3) - (1) =$

t) $(-10) + (2) =$

Name: _____

Rationale Zahlen addieren und subtrahieren



  $\rightarrow$ 	$(+5) + (+3) = 5 + 3 = 8$
  $\rightarrow$ 	$(+5) - (-3) = 5 + 3 = 8$
  $\rightarrow$ 	$(+5) + (-3) = 5 - 3 = 2$
  $\rightarrow$ 	$(+5) - (+3) = 5 - 3 = 2$

② Berechne!

a) $(-48) - (115) =$

k) $(-26) - (110) =$

b) $(-11) - (25) =$

l) $(-65) - (61) =$

c) $(-14) + (110) =$

m) $(-30) + (123) =$

d) $(-18) + (98) =$

n) $(-35) - (102) =$

e) $(-142) - (31) =$

o) $(-64) - (15) =$

f) $(-145) - (116) =$

p) $(-42) - (140) =$

g) $(-91) - (56) =$

q) $(-140) + (56) =$

h) $(-5) - (89) =$

r) $(-59) + (53) =$

i) $(-59) - (22) =$

s) $(-3) - (37) =$

j) $(-130) - (90) =$

t) $(-89) - (9) =$